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31. 70 Hectograms = How many gms. ? )

31.70 ;ia'::uengc = ox

2
2, ™20 ?

I}

w 7 (2) 70 (3) 700 (4) 7000

M 7\ ) 70 (3) 700 (4) 7000
32. 39 students collected Rs. 525 each for picnic. It had 40 notes of Rs. 500 ang

{ = o D e . e =
e rsingl were Reilsihotd) 32. goRmh Ly, 39 ampenes Z3dmon 525 STy, gaBEt. ¢St 500 Sa.ne 40

Spunne HH, wedPnth 5 on. SewnnedS,
>

How many Rs. 5 notes were there ? [ ©TTO B3 *57 SeTookod wiy, Bacnnd o o=y, ?
1) 95 ?) 25 3) 45 (4) 85
' £ 1) 95 ) 25 . @ 4) 85
33. Sunanda Tai earned a profit of Rs. 17000 by the sale of pomegranates. She had | 33. 30w meortod Spoetnes 17,000 Srmcond ooy Heade:. vIes med wn Syen 7,000

Sa. nes, B=gm S000 Se. riss, 2a0mn 3000 Sa 3, mormn 1000 da. Dwbe SRas,

spent Rs. 7000 on plantation. Rs. 5000 for pesticides, Rs. 3000 for labour and |
VTP LoWohTY, ATy Jemmcrer SR SRASH ?

Rs. 1000 for transportation.

Then, find the selling price of pomegranates. (1) 23000 z». (2) 33000 z». (3) 1000 z». (4) 13000 c».

-
(D= 23000 (2)Rs. 33000 () Rs: 1000 (4) Rs 13000 34.24 Roumetst Domd BT WIRD Lot HET LuEFIahI SabIS eHoId. & Hob3s o2

28 Rousoesss QT eoh3IT 0z e oFp B3 ?

34. The breadth of a rectangle is equal to the side of a si i i
g quare whose perimeter is 2 ooess 3

24 cm. If the perimeter of a rectangle is 28 c¢m, then what will be its length ? G LS e i G

35. zer,=3 womd O3, XXVII 80z LXVI & 331 X3 3aimosneds & OIS oxsnd

(1) 4cm (2) 6 cm (3) 7 em @) 8cm S
obau.

35. There are chairs from no. XXVII to LXVI in a row at an Auditorium. Then 1 38 @ 39 G408t D8

how many chairs are there in the row ? §
36. tomd Bo R 15 0or gnamer AFN ont Bach e 12 b3 3. s Zo37t 16 0o

(1) 38 (2) 39 3) 40 4) 48 ONATRR WIS FeR oy, THHD ?
B ‘ 2) 4

36. A number is divided by 15, the quotient is 12 and remainder O. If the same Gl ¥,

number is divided by 16, what will be remainder ? - : @) 6 @) 14

(1) 180 24 3) 6 4) 14

SPACE FOR ROUGH WORK SPACE FOR ROUGH WORK
0801/ Kannada Set-A 12 0f32 ST0 0801 / Kannada Set-A 13 of 32
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37. What is the difference between the number with place value of hundred and
the number with a place value of one-hundredth in the number 318.43 ?

(1) 30003
(3) 300.03

(2) 3003
4) 299.97

38. Rutuja bought 6 kg. wheat at the rate of Rs. 35 per kg., 3 kg. jowar at the
rate of Rs. 32 per kg., half kg. tea at the rate of Rs. 280 per kg. She gave a
500 rupee note to the shopkeeper. How many rupees will the shopkeeper return

to her ?
(1) Rs. 446 (2) Rs. 186
(3) Rs. 54 (4) Rs 64

39. Kolhapur-Ahmednagar bus started from Kolhapur with 25 passengers. At
Karad, 12 passengers boarded the bus and 4 women got down. At Satara, 16
passengers boarded and 9 got down. At Pune, some passengers got down. If,
at Ahmednagar 15 passengers were remaining, how many passengers got down

at Pune ?
1) 25 ) 29
@3) 23 4) 34

40. Which digits will occur in place of O and A, respectively, in the following

example ?

ooo
x AAA
1150787879

@by & 8 @) 1,9

@) 0,9 @ 4,5

SPACE FOR ROUGH WORK
0801/ Kannada Set-A 14 of 32

P.T.O.

i»

37. 31843 xosdoid) B3¢ mIS wos H3, Bewod MIT wod, IPNY WIS BSh DT

SRAID ?

(1) 30003 (2) 3003

(3) 300.03

(4) 299.97

Rt Bt DB,
Seck da83,

(1) 446 da.

(2) 186 da.

(3) 54 ca. (4) 64 .

39825 2T - ¥THTF Frd R, 25 Fmoardeodr LAY, YYBmHY. d0ed WKk doERY, 12
TouMh LAFG, Q0BT 3y, ey, 4, fohdh U RS0, IMISY, 16 Zzoanch vozss 33, 9
SEoAnch 29T, Sk dum) TmATD R FoIT eITE* Fnod, 15 It WARY, SGT
b 290 Fanc mosd, oy ? ;

ot
)
I,

(D 25 (2) 29

() 23 @) 34

40.89n3 evmnzosohd O 3 A 7:‘!;%’5@_ BITen wobE wodnieh ﬁq:& ?

ooo
XWANVATA
110889
0y 25 & @ L9
3) 0,9 @ 4,5
SPACE FOR ROUGH WORK B
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41. By how much is 5% of 100 less or more than 10% of 10 ?

(1) More by 4 (2) Smaller by 4

(3) More by S (4) Smaller by 5

42. Identify the figure in the series.

AGOALAOOAA 2
@ [\
@ A

W &
®»®©O

43. Rohit gets a monthly salary of Rs. 18000 per month. He spends %th part on

4 X 2 . F
petrol, 3th part for domestic expenses and —g-th part on bank instalment and
saves the remaining amount. How much amount does he save ?

(1) Rs. 2000 (2) Rs. 8000

(3) Rs. 4400 (4) Rs. 9000 i ~

44. Netrali purchased 2% ltr. milk everyday for first 15 days of September. On the
remaining days, she purchased 1%z It. milk at the rate of Rs. 52 per It. How
much did she spend in the month of September ?

(1) Rs. 1320 (2) Rs. 3120
(3) Rs. 3140 (4) Rs. 2350
SPACE FOR ROUGH WORK
0801 / Kannada Set-A 16 of 32

P.T.O.
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41. 100 \Bedm 5, w3 108 gesem 100 803 aFos 8RS vEm T «d.
(2) 4 ooz wemh
(3) 5 com ey (4) 5 oo ug

42, 3=H00T WHT ¥, woRTR Yo LAWO ?

AOAADOAA 2
@ o\
ORVAVLN

m @
ONOXO)

1 e
43.Bnck3art I8 Sorteh 18000 S, né Se33 Badoing B, ¥ETY, vIDH g wn Bdgedmn, g won
DI DUETRN B, 2 R 1,083 GoEN Debe TRB COTIH BroT, YTH wweseh SRAFS
©TZ WD IRBT TSy, ?

(1) 2000 2. (2) 8000 2.

(3) 4400 S, (4) 9000 Sa.

44.3ez Ocdn A pwos SorieRd Sado 15 0INYSOR SUBAET Ot W3, Fo3dB oRTow
LoTAES 0T moy, 52 TaTck I3 OD” SUH03 VOIS LT SoreEd, TOF XN
O, Sazeanth DbE IRATH ? Kot

(1) 1320 Smmects (2) 3120 crzma

(3) 3140 camoas (4) 2350 Samec

-
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Question 45 and 46 : Answer the questions based on the pictorial information. |

zeud 45 vor 46 : dunz UITAHT Seledadh vERTaRE JFNY YOI T FHio.
Saprléngs in the No. of saplings 1 TRTAHE I AR 2ol
BARY
Rose S S S \n
: 2% EE \|Pee = z 2 &
Hibiscus i
i ) ey ~ g ¥ g E
Champa 3 g :{)oﬂ.
i ) ' o & ¥
Jasmine & & Sanoc — g g
‘Scale: 1 picture = 10 saplings = . ) g S =
45. How many saplings are there of Hibicus, champa and Jasmine in all ? 2 - 33w 1 ug: 10 Bans e '
a 70 ) 80 a S| 45,503, SOR w3, Serived iy, Aae o ?
. L . s ' e 4 !
3) % @) 110 3 ! om0 . @) 80
; . | ' . poe
46. How many more number of saplings are there of Rose and Jasmine than that .‘b‘n(gk)- 90 "I'I" B @REI0T et
- of Hibicus ? j '

1) 20 2) 10
e @) 50 @ 30
1 i N sl w U R
i 1 o 1 3 e . ',"VJ‘. ¥ 3 Lt « rani} et
70— of N ofla0 e ol < . i 00 e = O
47. 5 of 25 + 5 of 100 = < of [ i L g + 1000 3 3y =0
‘Write the correct number in the box. ._ 3 B A
1) 275 @) 55 ) .
s ., 1
@) 125 @) 250
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48. What decimal fraction does the shaded portion in the following figure indicate ?

49.

50.

S

4
)= 2) (3) 0.25 4) 4.16

16

Aditya was born on Saturday 14th Jul. 2001. What was the day on his eightth
birthday ?

(1) Saturday (2) Monday

(3) Tuesday (4) Wednesday.

Which symbols will occur serially in the boxes in the following expression ?
602010505 =48

@) + — x + 2) x, +, + — 3) + %, +, — @) + + x, -

What will be the product of the place value of the digit in ten thousands place
and the face value of the digit at the thousands place in the number 58279 2

(1) 1000000 (2) 1000 (3) 10000 (@) 100000

52. Joseph used 20 quires out of 1 Ream for xerox. How many sheets are remaining
with him ?
(1) 24 )0 (3) 12 (4) 480
SPACE FOR ROUGH WORK
0801/ Kannada Set-A 200132 PT.0.

48, 49N 68, 8ohd deanosd Snad wonEE one dowed vdameod Sbehd e ?

|
) % @ 3 (3) 0.25

(@) 4.16

49. vo3d w83 14, wad, 2001 amo uNgd, ¢33 acuded FiyTY, IR OFEo WORE ?

(1) 2aswo (2) Rachad

(3) shonv=ec 4) wg=c

50. 2t oty 03 TrmIooh PULIG EHTON Lo Ut IR ?

’

620100505 =48

Q@)% 4 *+ - Wit X

(@) + - % + Gl

51.58279 &1 Romoh, oF Mg MIS vosch WA B I, IIY MIT osek IIXY @B [Ynd

rbmnq _aalb ?

(1) 1000000 (2) 1000 (3) 10000

52, daedza | o3¢ wrcndd, 20 oX, wianeay Spoee?, N wwTodanasd, vas T80 o
nREND eess) ?

(4) 100000

(1) 24 @ 0 6) 12 ) 480
SPACE FOR ROUGH WORK
0801/ Kannada Set-A 21 0f32 PTO.
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53. What is the sum of all divisors of 133 ? 53,133 @ wi

DRRINY Bedzy aFy 7

g =2

(1) 134 (2) 145 (3) 160 “) 151

(1) 134 (2) 145 (3) 160 4) 151

1 54. BBR,TT BTy DhF, Tumen Derich, aYrY HOVTY, STy, WWT T IRFoAN DBRST
54. How many meters should be subtracted from 10% m and % m to get 55 m. DeLITT HVOINI T ? i B -

as remainder ?

(1) s, Somen (2) 2 mwen (3) mes, =en (Bizieems
1) 475 m (2)525 m (3) 425 m (4) 5.75 m

55. w0t FoBAHY, 95 WELD ADRT SeIIT e Tche DD, ¥=d JeIIWN J& 3onieh

3

%
8,07,500 cezoonnies Ve E Y Doy, weds Jony SesTT, ?
55. In a company. 95 workers work on same salary. The company needs Rs.

807500 per month for their salary. Then how much salary does every worker (1) 9500 cw. (2) 9400 z». (3) 8400 cs. (4) 8500 gw.
get ?
56. BINIYVY oI ©3,30h ey, BF werine: Womed enhId ?
(1) Rs. 9500 (2) Rs. 9400 (3) Rs, 8400 (4) Rs. 8500
| (1) =egrt (2) gomox Byt
56. Of the following, which object will have all its surfaces in square shape ? ‘ (3) Foot,8 (4) =a, Bt
(1) Brick (2) Compass box |
} 57. 89n= ©8,30% g s PI Jodwoamn fomh wRE wor GRS W WHFOS, ?
(3) Cubical box (4) Match box |
gozd
57. If the below given figure is folded to make a cube, which colour will not come
adjacent to red colour ? =
a0
red
violet A
blue - IO Todon
green
yellow orangel
(1) 2eo (2) ogon (3) =vo 4) =2
(1) Blue (2) Orange (3) Yellow (4) Green .
SPACE FOR ROUGH WORK [ SPACE FOR ROUGH WORK
0801 / Kannada Set-A 22 of 32 P.T.O. 0801/ Kannada Set-A 23 of 32
’ l - L
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58.

For the following fractions, which <, >, = of the signs will be appropriate ?

58. 89n3 oTAmEES dncachgah ey FHO <, >, = YO, ond di Fhmen whId ?

IEBERL 7 13191
13— 7 49 Blinliby
Oy < = ?) < < 1) < = @ < <
@3) > = @ <, > @3) > = @) <>
2 59.2pem00030 tomh Sdonay 37,50,000 Sn. rert DocdrE. vzcd 7,25,000 cemecnent
59. Sonali purchased a house at Rs. 37,50,000. She made furniture for the house FREUT SRS, Dhdohd, v o demaoner FPOTT BEeR Wb T VY ST
worth Rs. 7,25,000. At what price should she sell the house to gain a profit SRR 7
of Rs. 525,000 ?
E 1) 5,00,000 2) 50,00,000
(1) Rs. 5,00,000 (2) Rs. 50,00,000 ) @
(3) Rs. 44,75.000 ) Rs. 49.50,000 | (3) 44,75,000 (4) 49,50,000
] [ 60. ‘B’ 8eo5 womhathd Feed max 6 Aoriaoetscr ach, ‘A’ feog WomhatE IBheod $mITT
60. The diameter of a circle with center B is the radius of circle with center A. What | gt AB o e vd o ?
is the length of seg. AB ? | l
M3 em ) 6 cm J e (1) 3 Rowavetio® ; .(2) 6 Botsoetsor
e (3) 12 cm 4) 2 cm ‘1 (3) 12 Rossmoessor (4) 2 Rowsavessor
{
61. What is the sum of odd prime numbers between 1 to S0 ? | 61.1003 50 0 SN 2 Thaw RN Lo o, ? 5
1) 328 (2) 326 ; (1) 328 (2) 326
(3) 303 @) 273 } (3) 303 @) 273
A | = Hegd machO, 893S 24 roddnd NAcRY, eBHmMITN YTH o
62. Dhanesh boarded a train at 11 o'clock in the afternoon, then at what time did | BTy L i e B il "' ®
- | ot mach®, sez ?
he board a train as per 24 hour clock ? | i “
|
(1) 11 PM (2) 21 o'clock | (1) e,z 11 rotsrt (2) 21 rosdrt
(3) 12 o'clock (at night) (4) 23 o'clock } (3) ooy 12 roedrt (4) 23 rogtrt |
- — | ——ue
0801 / Kannada Set-A 24 0f 32 PI.O. 0801 / Kannada Set-A 250f 32 . PT.O.
hels Lo RSO
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63. In a school, everyday 70% students out of 2300 perform Suryanamaskar. How

many students do not perform Suryanamaskar ?
(1) 1610 (2) 690

3) 590 @) 1410

64. By how much a 5 digit greatest number formed using digits 0, 2, 3, 9. 7 only
once is greater than a five digit smallest number formed using the same digits ?
(1) 117699 (2) 94941

(3) 76923 4) 7694 l.

65. th:mﬁaﬁomﬂrgvcnopuonswhenmwdodbys 6, ’lwﬂlg1ve4

as remainder ?
1) 42 2) 214
3) 206 i @ 210

66. How many number of angles are there in the adjacent fig

. 1‘“

i 'Ov VL
63.10% 29 2300 o, perte 2,3 70% amapens: Ome» Beobe SHmI mwad I3
"_. oy, O, @s-n'ea Backe dmg o :qu,ae ?

OB 2) 69
- (3) 59 @ 1410
64 023,9.7 o wotrvs, evastaenm JatmoRrts aow% d:sg 5 sotats R0, B, S9ta
45 sosab Hod, w0 T Fzp o ?
3 (1) 117699 (2)94941
: (3) 76923 (4) 76941

: fddn#ﬁn’#oab olna Hodr 5, 6,7 = RoZ oo N dgﬂ 4 oPotoITD ?

ey

) 214

T

(@) 210

o

63,3050, by, SneanY Hox 9=y, 7
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67. Vishwas bought 5 dozen copies at Rs. 10 per copy. 5 copies were found
damaged. He sold the remaining copies at Rs. 715. In this transaction, how
much profit per copy did he make ? )

(1) Rs. 13 (2) Rs. 3 (3) Rs. 115 (4) Rs. 12
687> 5'— 27 %13 + 4= 9 .
1) 21 (2) 67 (3) 33 (4) 147

69. The capacity of a water tank is 140 /. ; part of it is filled with water. How
many liters of water is required to make it full ?
1)” s

(1) 601 (2) 701. (3) 801. (4) 901
70. Shrikant drives a vehicle at the speed of 85 km/hr. For how many houxs will
he have to drive to cover a distance of 595 km, if the speed remams the same ?

(1) 7 hrs (2) 6 hrs
(3) 8 hrs 4) 5 hrs
71. Deep deposited Rs. 2000 for 4 years at the rate of 8 p.c‘p.a. P-m:i deposned Rs

4000 for 4 years at the rate of 4 p.c.p.a. Then what will be the ze]at]on between
the amount that they will receive after 4 years. ?

(1) Deep will get more than Pari
(2) Deep will get less than Pari
(3) Both will get the same amount
(4) Pari will get more than Deep

“ —

B nasol
7. omE 10 damant Lodes § ddq:a' Dl oo, YPYNYE, DT Dlenieth WONTT. WS
 onnvsy 99 715 damasrien oo Ewac S Gestaonh D td o, oot
-

BRos 7
‘ : (1) 13 @ 3 3) 115] @) 12
;‘gs.7x5-2x 3+4=0m07
A 1) 21 (2) 67 @3) 33 (@) 147
N 69.0.00h 208 oS g3 140 o <. & B 37‘— on RO Howd. P Tar .
,': THTh <7, o Otkst o uiyEd <o ?
R (1) 60 - @7 @) go"

0. bemos* 3 oA 85 demeiueuc Jendod HETIH FIWTH. et Srinos
. eozuasy gonRo oS om wANY dmhIs ? ol

o ‘At SR
y .
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72. How many number of triangles and squares are formed in the -givey figure 9 2 “w 000, srhgsiaon WS, b 'mm# : i

4

LORrar @ 55
(3) 5, ’G @ 4, 4

73.. Whnwi]l be sum of first and last number 1f 329'76.
§ in lsceudmg ‘order ?

R (1)R56%772 - -

() 56952 -""m

Scanned with CamScanner



Scanned with CamScanner




